
Instructions for Linbar®,
Multibar® and Unibar®

Part #115-1, 1315, 1415
Fits Sportster Rubber Mount Engine 2004-up

1. Remove two bolts in upper front engine stabilizer.

2. Install supplied brackets between the forward controls   
 and the frame on left and right side.

 

NOTE:

 

On motorcycles with mid controls install the brackets on the 2  
 mounting points where the forward controls mount. Use the 3/8” x 1”  
 bolts supplied.

3. Install the top mount of the highway bar using the 2 bolts   
 you uninstalled in step 1.

4. Install the 2 lower mounts of the highway bar to the
 brackets you installed in step 2, using provided nuts,   
 bolts and washers.

5. Tighten all bolts to factory spec.

6.      Hardware included:
                -2 Hex bolt 3/8 x 16 x 1 1/4
                      -2 Hex bolt 3/8 x 16 x 1 1/2
                      -4 Hex bolt 3/8 x 16 x 1
                  -2 Nylon lock nuts 3/8 x 16
                  -10 Sae flat washers 3/8
                  -2 Brackets with Slot

  *Bar width: 31”

NOTE: If there is not enough clearance between front exhaust and the
highway bar, adjustment of exhaust system may be needed.

Front Linbar patent D361311
Front Multibar patent D548142

www.lindbycustom.com
320 E. Crowther Ave., Placentia, CA 92870

Phone (714) 528-0085 • Fax (714) 528-0087


